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st Jlata: ______ Ouemka: __
297,6 % 107 = 1003 =
1009 = 3% 10% =
318,1+ 100" = 1003 =
107 = 671,7+ 1072 =
269,8 % 10° = 1 x 102 =
1073 = 5% 100D =
—2x 10" = 746,9 x 1074 =
—3x 10" = 103 =
9x 100" = 1002 =
5% 10% = 626,8 x 1073 =
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Uwvst: Jlata: __ Ouenka: ____
297,6 % 10 = 0.2976 107 = 0.001
107 = 0.0001 3% 107 = 300
318,1+ 107" = 3181 107 = 0.001
1072 = 0.01 671,7+ 1072 = 67170
269, 8 x 10* = 26980 1% 10* = 100
107 = 0.001 5x100Y =05
—2x 107" = —0.0002 746,9 x 107 = 0.07469
—3%x10°=-3 107 = 0.001
9x 107" =0.9 1072 = 0.01
5% 10% = 500 626, 8 x 107 = 0.6268
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